CD 32 - CDC Open-D3

POULE A
DATE LIEU HEURE CLUBA CLUBB
1ére journée (demi-journée)
" RISCLE 2 URGOSSE 4
- (@)
5| 2 | 8
b g < MARCIAC 2 ESTANG 3
~ < S
N i ]
e PLAISANCE 3 CASTELNAU D’AUZAN 1
2éme journée
° RISCLE 2 MARCIAC 2
] ( URGOSSE 4 PLAISANCE 3
o0
‘g <Zt ESTANG 3 CASTELNAU D’AUZAN 1
& ‘g 2 RISCLE 2 ESTANG 3
a < URGOSSE 4 CASTELNAU D’AUZAN 1
- MARCIAC 2 PLAISANCE 3
3éme journée
° RISCLE 2 PLAISANCE 3
] (o URGOSSE 4 ESTANG 3
o0
‘g <Zt MARCIAC 2 CASTELNAU D’AUZAN 1
g' ‘g o RISCLE 2 CASTELNAU D’AUZAN 1
o
a < ESTANG 3 PLAISANCE 3
- URGOSSE 4 MARCIAC 2




CD 32 - CDC Open-D3

POULE B
DATE LIEU HEURE CLUBA CLUBB
1ére journée (demi-journée)
SAINT JEAN POUTGE 1 VALENCE SUR BAISE
=)
& 5 @
b S & GONDRIN LAURAET 2 ORDAN LARROQUE 2
8 < -
PEYRUSSE-MASSAS 1 SAINTE CHRISTIE 2
2éme journée
o SAINT JEAN POUTGE 1 GONDRIN LAURAET 2
W, ( VALENCE SUR BAISE PEYRUSSE-MASSAS 1
0
‘g 3 § ORDAN LARROQUE 2 SAINTE CHRISTIE 2
o E < o SAINT JEAN POUTGE 1 ORDAN LARROQUE 2
w S )
o < VALENCE SUR BAISE SAINTE CHRISTIE 2
- GONDRIN LAURAET 2 PEYRUSSE-MASSAS 1
3éme journée
o SAINT JEAN POUTGE 1 PEYRUSSE-MASSAS 1
<Zt g VALENCE SUR BAISE ORDAN LARROQUE 2
o0
g > GONDRIN LAURAET 2 SAINTE CHRISTIE 2
g' <§: Q SAINT JEAN POUTGE 1 SAINTE CHRISTIE 2
v R ORDAN LARROQUE 2 PEYRUSSE-MASSAS 1
(]

VALENCE SUR BAISE

GONDRIN LAURAET 2




CD 32 - CDC Open-D3

POULE C
DATE LIEU HEURE CLUBA CLUBB
1ére journée (demi-journée)
> ENDOUFIELLE 2 ISLE JOURDAIN 2
- < o
§ :: 2 GIMONT 3 SAINT ANDRE 3
N = =
b TOUGET 1 PREIGNAN 2
2éme journée
o ENDOUFIELLE 2 GIMONT 3
2 ISLE JOURDAIN 2 TOUGET 1
"g ,_I_, ® SAINT ANDRE 3 PREIGNAN 2
O 3 8 ENDOUFIELLE 2 SAINT ANDRE 3
g ISLE JOURDAIN 2 PREIGNAN 2
- GIMONT 3 TOUGET 1
3éme journée
w o ENDOUFIELLE 2 TOUGET 1
g 2 ISLE JOURDAIN 2 SAINT ANDRE 3
g <Zt % GIMONT 3 PREIGNAN 2
2 E 8 ENDOUFIELLE 2 PREIGNAN 2
5 g SAINT ANDRE 3 TOUGET 1
- ISLE JOURDAIN 2 GIMONT 3




CD 32 - CDC Open-D3

POULE D
DATE LIEU HEURE CLUBA CLUBB
1ére journée (demi-journée)
LALANNE ARQUE 2 MASSEUBE 1
- (NN ]
o Zz 4 o
Q z2 2 ™
b < O < SAINT MICHEL 2 SAINT ARAILLES
o~ - e <
~ < < -
BASSOUES 2 MIRANDE 3
2éme journée
o LALANNE ARQUE 2 SAINT MICHEL 2
W 2 MASSEUBE 1 BASSOUES 2
2 o0
‘g 2 8 SAINT ARAILLES MIRANDE 3
) ; n<= o LALANNE ARQUE 2 SAINT ARAILLES
o
~ < MASSEUBE 1 MIRANDE 3
- SAINT MICHEL 2 BASSOUES 2
3éme journée
o LALANNE ARQUE 2 BASSOUES 2
o g MASSEUBE 1 SAINT ARAILLES
= 00
S = SAINT MICHEL 2 MIRANDE 3
1 (7))
on %) o LALANNE ARQUE 2 MIRANDE 3
(] <L -
S R SAINT ARAILLES BASSOUES 2
(]

MASSEUBE 1

SAINT MICHEL 2




